
Il	
  sistema	
  cardiocircolatorio	
  

Il	
  sistema	
  cardiocircolatorio	
  si	
  
suddivide	
  in:	
  
	
  	
  
Pompa	
  cardiaca	
  (Cuore)	
  
Circolo	
  sistemico	
  
Circolo	
  polmonare	
  



Distre6	
  circolatori	
  

Cuore	
  
Ruolo:	
  pompa	
  meccanica	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (gradiente	
  pressorio)	
  
Proprietà:	
  efficienza	
  variabile	
  



La	
  progressiva	
  riduzione	
  del	
  gradiente	
  pressorio	
  

Resistenza	
  al	
  flusso	
  (forze	
  di	
  aBrito)	
  

Forza	
  di	
  gravità	
  



La	
  circolazione	
  coronarica	
  

La	
  circolazione	
  coronarica	
  provvede	
  alla	
  nutrizione	
  del	
  cuore	
  



	
  Il	
  cuore	
  

Tessuto	
  muscolare	
  striato:	
  
miocardio	
  
	
  
Tessuto	
  conne9vo:	
  
valvole	
  e	
  corde	
  tendinee	
  



Il	
  miocardio:	
  
-­‐  I	
  cardiomioci;	
  
-­‐  Le	
  proprietà	
  del	
  miocardio	
  

L’innervazione	
  del	
  cuore	
  
L’eleBrocardiogramma	
  
Il	
  ciclo	
  cardiaco	
  
-­‐  La	
  legge	
  di	
  Frank-­‐Starling	
  



Il	
  miocardio	
  
Gap	
  juncGon:	
  per	
  la	
  comunicazione	
  ele@rica	
  
Desmosomi:	
  per	
  la	
  comunicazione	
  meccanica	
  



Le	
  proprietà	
  eleBriche	
  dei	
  cardiomiociG	
  sono:	
  
1.  L’autoritmicità:	
  le	
  cellule	
  pacemaker	
  
2.  La	
  conduzione:	
  	
  il	
  fascio	
  di	
  His	
  e	
  le	
  fibre	
  di	
  Purkinje	
  
3.  La	
  contrazione:	
  mioci;	
  atriali	
  e	
  ventricolari	
  
	
  
Le	
  proprietà	
  del	
  miocardio	
  sono: 
1.  Cronotropismo:	
  automa;smo	
  
2.  Dromotropismo:	
  capacità	
  di	
  condurre	
  il	
  potenziale	
  d’azione	
  
3.  Inotropismo:	
  contra9lità	
  
4.  Batmotropismo:	
  eccitabilità	
  	
  



Le	
  proprietà	
  eleBriche	
  dei	
  cardiomiociG	
  

La	
  durata	
  complessiva	
  del	
  potenziale	
  d’azione	
  cardiaco	
  è	
  di	
  circa	
  250	
  ms.	
  



LE	
  CELLULE	
  PACEMAKER	
  e	
  il	
  CRONOTROPISMO	
  

Le	
  cellule	
  del	
  nodo	
  senoatriale	
  generano	
  70-­‐90	
  PA	
  al	
  min.	
  
Le	
  cellule	
  del	
  nodo	
  atrio	
  ventricolare	
  	
  generano	
  40-­‐60	
  PA	
  al	
  min.	
  



If	
  =	
  corren;	
  “Funny”	
  
corrente	
  ca;onica	
  mista	
  

La	
  capacità	
  delle	
  cellule	
  pacemaker	
  di	
  generare	
  spontaneamente	
  PA	
  	
  
dipende	
  dalla	
  presenza	
  delle	
  corren;	
  FUNNY	
  (If)	
  



Il	
  TESSUTO	
  DI	
  CONDUZIONE	
  e	
  il	
  DROMOTROPISMO	
  



I	
  CARDIOMIOCITI	
  ATRIALI	
  e	
  VENTRICOLARI	
  e	
  lo	
  INOTROPISMO	
  

Il	
  PA	
  dei	
  cardiomioci;	
  
ventricolari	
  presenta	
  una	
  	
  
fase	
  di	
  plateau	
  (2)	
  
necessaria	
  
per	
  consen;re	
  l’ingresso	
  
del	
  Ca2+	
  
nel	
  citoplasma	
  



Il	
  meccanismo	
  di	
  accoppiamento	
  eccitazione-­‐contrazione	
  
della	
  cellula	
  muscolare	
  cardiaca	
  

L	
  
La	
  concentrazione	
  citoplasma;ca	
  del	
  Ca2+	
  dipende:	
  
	
  	
  
1)	
  dall’a9vità	
  dei	
  canali	
  voltaggio-­‐dipenden;	
  
	
  	
  	
  	
  	
  (tubuli	
  T)	
  

	
  
2)	
  dall’a9vità	
  dei	
  canali	
  rianodinici	
  (o	
  caffeina-­‐sens.)	
  
	
  	
  	
  	
  (re;colo	
  sarcoplasma;co)	
  



La	
  contrazione	
  cardiaca	
  dipende	
  dall’ingresso	
  di	
  Ca2+	
  nel	
  citoplasma	
  



Le	
  differenze	
  tra	
  la	
  contrazione	
  muscolare	
  cardiaca	
  e	
  scheletrica:	
  

3.	
  Nel	
  muscolo	
  cardiaco	
  la	
  tensione	
  si	
  
sviluppa	
  per	
  s;ramen;	
  di	
  minore	
  en;tà	
  

1.  Nella	
  contrazione	
  cardiaca	
  la	
  	
  
	
  	
  	
  	
  	
  	
  	
  latenza	
  meccanica	
  dura	
  più	
  a	
  lungo	
  

2.	
  La	
  soglia	
  di	
  a9vazione	
  dei	
  pon;	
  
trasversali	
  dei	
  cardiomioci;	
  avviene	
  a	
  
concentrazioni	
  di	
  calcio	
  citoplasma;co	
  
inferiore	
  



BATMOTROPISMO	
  (eccitabilità)	
  

PRA	
  =	
  Periodo	
  refra@ario	
  assoluto	
  
Il	
  cuore	
  non	
  risponde	
  ad	
  alcuno	
  s;molo	
  
	
  
PRR:	
  Periodo	
  refra@ario	
  rela;vo	
  
Il	
  cuore	
  risponde	
  solo	
  a	
  s;moli	
  sovrasoglia	
  
(extrasistole	
  )	
  

PMR =-90 mV  



L’innervazione	
  del	
  cuore	
  

Il	
  sistema	
  nervoso	
  autonomo	
  



Gli	
  effe9	
  del	
  sistema	
  nervoso	
  ortosimpaGco:	
  
	
  
-­‐  Cronotropo	
  posi;vo	
  
-­‐  Drompotropo	
  posi;vo	
  
-­‐  Ionotropo	
  posi;vo	
  
-­‐  Batmotropo	
  posi;vo	
  
	
  
	
  
Gli	
  effe9	
  sistema	
  nervoso	
  parasimpaGco:	
  
	
  
-­‐  Cronotropo	
  nega;vo	
  
-­‐  Drompotropo	
  nega;vo	
  
-­‐  Inotropo	
  nega;vo	
  
-­‐  Batmotropo	
  nega;vo	
  



La	
  NORADRENALINA	
  rilasciata	
  dal	
  SNA	
  ortosimpa;co	
  
aumenta	
  la	
  forza	
  della	
  contrazione	
  cardiaca	
  aumentando	
  

l’ingresso	
  di	
  Ca2+	
  nei	
  cardiomioci;:	
  	
  
effe@o	
  inotropo	
  posi;vo	
  	
  



La	
  NORADRENALINA	
  rilasciata	
  dal	
  SNA	
  ortosimpa;co	
  
aumenta	
  la	
  velocità	
  con	
  cui	
  la	
  cellula	
  pacemaker	
  si	
  

depolarizza	
  :	
  effe@o	
  cronotropo	
  posi;vo	
  	
  



L’	
  ACETILCOLINA	
  rilasciata	
  dal	
  SNA	
  parasimpa;co	
  riduce	
  la	
  forza	
  della	
  
contrazione	
  cardiaca	
  riducendo	
  l’ingresso	
  di	
  Ca2+	
  nei	
  cardiomioci;:	
  

effe@o	
  inotropo	
  nega;vo	
  	
  
	
  	
  



La	
  ACETILCOLINA	
  rilasciata	
  dal	
  SNA	
  parasimpa;co	
  riduce	
  la	
  
velocità	
  con	
  cui	
  la	
  cellula	
  pacemaker	
  si	
  depolarizza	
  :	
  

	
  effe@o	
  cronotropo	
  nega;vo	
  	
  



La	
  collaborazione	
  tra	
  SNA	
  e	
  sistema	
  endocrino	
  
(noradrenalina	
  e	
  catecolamine	
  circolanG)	
  



L’eleBrocardiogramma	
  (ECG)	
  
la	
  rappresentazione	
  grafica	
  dell'a9vità	
  ele@rica	
  del	
  cuore	
  

Il triangolo di Einthoven 





Onda	
  P	
  =	
  	
  PA	
  che	
  si	
  propaga	
  agli	
  atri	
  (depolarizzazione	
  atri)	
  
Onda	
  Q	
  =	
  a9vazione	
  cardiomioci;	
  del	
  se@o	
  
Onda	
  R	
  =	
  il	
  PA	
  si	
  dirige	
  ai	
  cardiomioci;	
  del	
  ventricolo	
  (apice)	
  
Onda	
  S	
  =	
  il	
  PA	
  raggiunge	
  la	
  base	
  del	
  cuore	
  
(complesso	
  QRS	
  =	
  depolarizzazione	
  del	
  ventricolo)	
  
Onda	
  T	
  =	
  ripolarizzazione	
  del	
  ventricolo	
  

Le	
  onde	
  dell’ECG	
  



Intervallo	
  PQ	
  =	
  tempo	
  di	
  conduzione	
  del	
  PA	
  dal	
  nodo	
  SA	
  al	
  fascio	
  di	
  His	
  
Intervallo	
  RR	
  =	
  frequenza	
  cardiaca	
  
Intervallo	
  PR:	
  propagazione	
  del	
  PA	
  dal	
  NS	
  -­‐	
  AV	
  ai	
  ventricoli	
  
Intervallo	
  QRS:	
  conduzione	
  del	
  PA	
  ai	
  ventricoli	
  
Intervallo	
  QT	
  :	
  fase	
  di	
  depolarizzazione	
  e	
  ripolarizzazione	
  del	
  ventricolo	
  (QT	
  lungo:	
  
altreazione	
  ritmo	
  cardiaco)	
  

L’interpretazione	
  dell’ECG	
  



SINDROME	
  DEL	
  QT	
  LUNGO	
  



ll	
  ciclo	
  cardiaco	
  



Le	
  valvole	
  cardiache	
  



	
  
Gi$ata	
  sistolica	
  (GS):	
  	
  
“volume	
  di	
  sangue	
  immesso	
  nell’aorta	
  durante	
  la	
  sistole	
  ventricolare”	
  
	
  
GS	
  =	
  70	
  ml	
  suddiviso	
  in	
  volume	
  di	
  riempimento	
  rapido	
  (70-­‐75%)	
  e	
  volume	
  
di	
  riempimento	
  lento	
  (25-­‐30%)	
  
	
  
Gi$ata	
  cardiaca	
  (GC):	
  	
  
“volume	
  di	
  sangue	
  che	
  il	
  cuore	
  espelle	
  in	
  un	
  minuto”	
  	
  
	
  
GC	
  =	
  circa	
  5	
  litri/min	
  (GS	
  x	
  72	
  ba9;/min)	
  
In	
  caso	
  di	
  a9vità	
  fisica	
  può	
  aumentare	
  fino	
  a	
  25L/min	
  
	
  
Sangue	
  residuo	
  sistolico	
  (telesistolico):	
  
“volume	
  di	
  sangue	
  che	
  rimane	
  nel	
  ventricolo	
  al	
  termine	
  della	
  sistole”	
  	
  
(circa	
  50	
  ml)	
  
	
  
Volume	
  telediastolico:	
  	
  
“volume	
  di	
  sangue	
  contenuto	
  nel	
  ventricolo	
  alla	
  fine	
  della	
  diastole”ù	
  
50	
  ml	
  +	
  70	
  ml	
  



DURATA	
  DEL	
  CICLO	
  CARDIACO:	
  0.8	
  s	
  
(N.B.:	
  riferito	
  dal	
  ventricolo	
  sinistro!)	
  

	
  
DIASTOLE	
  VENTRICOLARE	
  (durata	
  circa	
  0.6	
  s):	
  

1.   	
  Rilasciamento	
  isovolumetrico	
  (circa	
  0.07	
  s):	
  comincia	
  alla	
  fine	
  dell’onda	
  T.	
  Il	
  
ventricolo	
  comincia	
  la	
  fase	
  di	
  rilassamento	
  e	
  le	
  valvole	
  mitrale	
  e	
  aor;ca	
  sono	
  
chiuse.	
  Il	
  sangue	
  che	
  si	
  trova	
  all’interno	
  è	
  il	
  residuo	
  sistolico.	
  

	
  
2.   Riempimento	
  ventricolare	
  (circa	
  0.5	
  s):	
  la	
  valvola	
  mitrale	
  è	
  aperta	
  e	
  la	
  valvola	
  

aor;ca	
  è	
  chiusa.	
  Il	
  sangue	
  portato	
  dalle	
  vene	
  polmonari	
  all’atrio	
  sinistro	
  
comincia	
  a	
  riempire	
  il	
  ventricolo	
  (riempimento	
  lento-­‐diastasi).	
  Nella	
  fase	
  di	
  
riempimento	
  veloce	
  comincia	
  la	
  sistole	
  atriale.	
  Il	
  volume	
  ventricolare	
  aumenta	
  
ma	
  le	
  pare;	
  sono	
  ancora	
  rilassate	
  (N.B.	
  il	
  sangue	
  si	
  aggiunge	
  al	
  residuo	
  sistolico	
  
già	
  presente	
  nel	
  ventricolo).	
  	
  

	
  	
  
QUESTA	
  FASE	
  COMINCIA	
  CON	
  L’ONDA	
  T	
  E	
  TERMINA	
  CON	
  L’ONDA	
  R	
  

	
  



1.	
   Sistole	
   isovolumetrica	
   (circa	
   0.05	
   s):	
   intervallo	
   di	
   tempo	
   tra	
   la	
   chiusura	
   della	
  
valvola	
   mitrale	
   (quando	
   il	
   ventricolo	
   comincia	
   a	
   contrarsi)	
   e	
   l’apertura	
   valvola	
  
aor;ca.	
   Il	
   volume	
   di	
   sangue	
   all’interno	
   del	
   ventricolo	
   è	
   costante	
   (volume	
  
telediastolico).	
   In	
   questo	
   periodo	
   entrambe	
   le	
   valvole	
   sono	
   chiuse.	
   Coincide	
   con	
  
onda	
  l’QRS	
  dell’ECC.	
  Il	
  ventricolo	
  sviluppa	
  tensione	
  ma	
  non	
  si	
  accorcia.	
  
	
  	
  
2.	
   Eiezione	
   (circa	
   0.22	
   s):	
   la	
   gi@ata	
   sistolica	
   viene	
   immessa	
   nell’aorta	
   (70	
   ml	
   di	
  
sangue).	
  Intervallo	
  di	
  tempo	
  dall’apertura	
  della	
  valvola	
  mitrale	
  e	
  la	
  fine	
  della	
  sistole	
  
vetricolare	
   (con	
   successiva	
   chiusura	
   valvola	
   aor;ca).	
   Il	
   ventricolo	
   si	
   accorcia	
   in	
  
direzione	
  caudo	
  craniale.	
  	
  
	
  	
  
N.B.	
  LA	
  DURATA	
  DELLA	
  SISTOLE	
  VENTRICOLARE	
  COINCIDE	
  CON	
  LA	
  DURATA	
  DEL	
  
PA	
  DEI	
  CARDIOMIOCITI	
  VENTRICOLARI!	
  (circa	
  0.250	
  s)	
  

DURATA	
  DEL	
  CICLO	
  CARDIACO:	
  0.8	
  s	
  
(riferito	
  al	
  ventricolo	
  sinistro!)	
  

	
  
LA	
  SISTOLE	
  VENTRICOLARE	
  	
  (0.25	
  s)	
  





Le	
  fasi	
  del	
  ciclo	
  cardiaco	
  





Gi@ata	
  	
  	
  	
  	
  	
  Volume	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Volume	
  
Sistolica	
  =	
  telediastolico	
  -­‐	
  	
  telesistolico	
  
	
  	
  	
  (GS)	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (VTD)	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (	
  VTS)	
  



	
  	
  
Le	
   variazioni	
   della	
   giBata	
   sistolica	
   (=	
   variazioni	
   del	
   volume	
   di	
  
sangue	
   eie@ato)	
   dipendono	
   dalla	
   forza	
   di	
   contrazione	
   del	
  
ventricolo	
   sinistro.	
   Essa	
   è	
   so@oposta	
   ad	
   una	
   regolazione	
  
intrinseca	
  ed	
  estrinseca	
  (ormonale	
  e	
  nervosa).	
  
	
  
La	
  regolazione	
  intrinseca	
  della	
  gi@ata	
  sistolica	
  dipende	
  dalla:	
  
	
  
-­‐	
  variazione	
  del	
  pre-­‐carico	
  (pressione	
  atrio);	
  
	
  
-­‐	
  variazione	
  del	
  post-­‐carico:	
  pressione	
  arteriosa	
  a	
  valle	
  del	
  
ventricolo	
  (quella	
  necessaria	
  ad	
  aprire	
  la	
  valvola	
  aor;ca).	
  
	
  



	
  
Legge	
  di	
  Frank-­‐Starling	
  

 
“il	
  lavoro	
  eseguito	
  da	
  ciascun	
  ventricolo	
  è	
  funzione	
  della	
  lunghezza	
  delle	
  fibre	
  	
  

di	
  esso	
  a	
  fine	
  diastole	
  (telediastole)”	
  
	
  	
  	
  

Diagramma pressione-volume registrato 
in condizioni isovolumetriche 

La	
  capacità	
  di	
  regolazione	
  intrinseca	
  del	
  cuore	
  è	
  descri@a	
  dalla:	
  



All’aumento	
  della	
  pressione	
  atriale	
  (pre-­‐carico)	
  corrisponde	
  un	
  aumento	
  	
  della	
  forza	
  di	
  
contrazione	
  del	
  ventricolo:	
  

Un	
  aumento	
  della	
  distensione	
  della	
  parete	
  dei	
  ventricoli	
  (causato	
  da	
  in	
  aumento	
  del	
  
volume	
  telediastolico)	
  si	
  traduce	
  in	
  un	
  aumento	
  della	
  forze	
  di	
  contrazione	
  
(aumento	
  della	
  gi@ata	
  sistolica).	
  



All’aumento	
  del	
  volume	
  
telediastolico	
  corrisponde	
  

un	
  aumento	
  del	
  volume	
  di	
  eiezione	
  
ventricolare: 

All’aumento	
  della	
  pressione	
  dell’atrio	
  
corrisponde	
  un	
  aumento	
  del	
  volume	
  
ventricolare	
  e	
  della	
  pressione	
  aor;ca	
  

Il	
  cuore	
  regola	
  la	
  forza	
  della	
  contrazione	
  del	
  ventricolo	
  in	
  funzione	
  del	
  
ritorno	
  venoso	
  (precarico)	
  garantendo	
  l’equilibrio	
  tra	
  precarico	
  e	
  giEata	
  cardiaca	
  



Il	
  lavoro	
  del	
  cuore	
  sinistro	
  e	
  cuore	
  destro	
  a	
  confronto	
  



Autoregolazione	
   Aumento	
  delle	
  resistenze	
  	
  
periferiche	
  

Simolazione	
  	
  
ortosimpa;ca	
  


